
            

            

            

            

            

            

      

 

xUq;fik rkd;ghLfs;  

xd;Wf;F Nkw;gl;l njupahf; fzpaq;fisf; nfhz;l rkd;ghLfs; xUq;fik 
rkd;ghLfs; vdg;gLk;.  

cjhuzk; :- 1. 2x – 2y = 4 

          x + 2y = 5   

2x – 2y = 4        (1) 

x + 2y =   5       (2)  

(1) + (2)  = 2x – 2 y + x + 2y = 4 + 5  

3x = 9 

x = 
    

   
  

x = 3 

x = 3 vd rkd;ghL 1 ,y; gpujpapLjy;  

2x – 2y      = 4 – (1) 

2 x x – 2y  = 4 

2 x 3 – 2y  = 4  

6 – 2y        = 4 – 6  

2y = 4 – 6  

- 2y = -2  

  y = 1  

 

gpd;tUk; xUq;fik rkd;ghLfisj; jPu;f;f.  
 

I. 2m + 3n = 12  

3m + 3n = 15 
 

II. 3x + y = 7  

2x – y = - 2  
 

III. x = 3y  

x + 3y = 12  

 

IV. 2m + n = 5  

m + 2n = 4  

 

V. 3x + y = 14 

2x + 3y = 21  

ghlk; - fzpjk;     

juk; - 10  
Mrpupau; :- Mrs. K. tp[ayypjh  
Nf.nj`p. nj`pNahtpw;w> jkpo; kfh tpj;jpahyak;  

[Pd; thuk; :- 03 

rgufKt khfhz fy;tpj; jpizf;fsk; - thu ghlrhiy  


